Causes of World

Treaty of Versailles
Lloyd George of England,
Woodrow Wilson from the

U.S and Clemenceau of
France discussed
Germany's punishment.
The four main terms of the
treaty was War Guilt

Clause, reparations,

disarment and territiorial
clauses.
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Hitler's Actions
The French and British
were in favor of a stronger
Germany because there
were not many jobs and
price of food and basic
goods was high.
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Failure of Appeasement.
Many politicans believed
Germany should be able to
re-arm because it needs to
protect itself and that a
stronger Germany prevent
communism to spread
throughout the west.

Failure of the League of
Nations.
The great depression hurt
the ability of the League
of Nations to act because
people were told to stop
trading with Japan after
they invaded them but
countries couldn't risk
lossing momey.

Nazi Party

The Nazi Party was
founded by Anton Drexter,

Gottfried Feder and

Dietrich Eckart. It's

officialname was the
National Socialist German

Workers Party. The
Reichstag fire on Feburary
27th led to the banning of

the communist party.

Adolf Hitler was a cause
because he hated the
Weimar government. He
hated the treaty of
Versailles so he built up the
army and their weapons.
Took back German land
that was taken away. Plus
he invaded new territories .
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